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$Q�$FW�WR�(VWDEOLVK�WKH�3URWHFW�6RFLDO�6HFXULW\�$FFRXQW

$V�RUGHUHG�UHSRUWHG�E\�WKH�+RXVH�&RPPLWWHH�RQ�:D\V�DQG�0HDQV

RQ�6HSWHPEHU���������

+�5�������ZRXOG�HVWDEOLVK�DQ�DFFRXQW�ZLWKLQ�WKH�7UHDVXU\�FDOOHG�WKH�¦3URWHFW�6RFLDO�6HFXULW\

$FFRXQW�§��7KH�ELOO�ZRXOG�UHTXLUH�WKH�6HFUHWDU\�RI�WKH�7UHDVXU\�WR�PDNH�DQQXDO�SD\PHQWV

LQWR�WKH�DFFRXQW�GXULQJ�WKH�ILVFDO�\HDU�����������SHULRG�WKDW�LQ�DJJUHJDWH�HTXDO����SHUFHQW

RI�WKH�SURMHFWHG�WRWDO�EXGJHW�VXUSOXV�IRU�WKDW�SHULRG���7KRVH�DPRXQWV�ZRXOG�EH�LQYHVWHG�LQ

IHGHUDO�VHFXULWLHV��DQG�LQWHUHVW�RQ�WKRVH�VHFXULWLHV�ZRXOG�EH�FUHGLWHG�WR�WKH�DFFRXQW���7KHVH

VHFXULWLHV�SUHVXPDEO\�ZRXOG�EH�LQFOXGHG�LQ�IHGHUDO�GHEW�VXEMHFW�WR�WKH�VWDWXWRU\�OLPLW�

7KH�WUDQVDFWLRQV�DXWKRUL]HG�E\�+�5�������ZRXOG�EH�SXUHO\�LQWUDJRYHUQPHQWDO�DQG�ZRXOG�QRW

DIIHFW�DJJUHJDWH�IHGHUDO�RXWOD\V�RU�UHYHQXHV���7KH\�DOVR�ZRXOG�QRW�DIIHFW�RXWOD\V�RU�LQFRPH

RI�WKH�6RFLDO�6HFXULW\�WUXVW�IXQGV���7KHUHIRUH��SD\�DV�\RX�JR�SURFHGXUHV�ZRXOG�QRW�DSSO\�WR

WKH�OHJLVODWLRQ���7KH�ELOO�FRQWDLQV�QR�LQWHUJRYHUQPHQWDO�RU�SULYDWH�VHFWRU�PDQGDWHV�DV�GHILQHG

LQ�WKH�8QIXQGHG�0DQGDWHV�5HIRUP�$FW�DQG�ZRXOG�QRW�DIIHFW�WKH�EXGJHWV�RI�VWDWH��ORFDO��RU

WULEDO�JRYHUQPHQWV�
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:DWHU��$VVLVWDQW�'LUHFWRU�IRU�%XGJHW�$QDO\VLV�


